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AR 3 90 3 90
RERER 3 90 3 90
WRERI 3 90 3 90
WARERI 3 90 3 90
HAERRK I 2 60 2 60
HABEERKT 1 30 1 30
HAERFKI 2 60 2 60
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Ty —UFKI 1 30 1 30
Ty —TUFRFKM 1 30 1 30
BEERI 2 60 2 60
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GRER I 1 30 1 30
ERPREE O 1 30 1 30
ERRREE I 3 135 3 135
ERPREE O 4 180 4 180
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HAERRK I 2 60 2 60
HABERKT 1 30 1 30
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GREE I 1 30 1 30
GRES I 1 30 1 30
RREE I 2 90 2 90
BREE I 3 135 3 135
B 7 210 7 240 8 285 22 735
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B 7 210 7 240 7 255 21 705
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% |IFEEAER 1 30 1 30
H |maee=n 1 30 1 30
FRAREE I 1 30 1 30
FRAREE I 1 30
FRIREE I 2 90 2 90
FRIREE I 3 135 3 135
H 7 210 7 240 7 255 21 705




